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Question 1
b)| () q = 37.6cm (1)
16q
v ' h = ——
(i) q+16 2)
376 + 16
=1122 v
c) (i) x=5cm ¥ (1)
°y xh
11 =
@) r X
(2)
. S(La2)
TSl
= —-9019
=902 V
T
(11) s 2(1—m)
(1)
—9.02 _ (2-2m)
11.22
m = 1.402
m=14+
d)! (i) Table 1 (5 marks)
d (cm) AR T AR TR R R N R
q (cm) 508 | 45 | 319 2671 | 218 | 177 | 154
S=d+q(cm)| 733 | 60 | 499 | 471|459 |477 | 504
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Question 2
PART A
b [ G x=26cm 1)
(i) fid, = fad2 3)
20 X mo = 50 X 26" \
. 50%D6
e 90
=65g
@ |G Xi=16cm < (1)
(i) 50x16 = M, x20 (3)
M. = 50x16 _
20
M, =40g
(iil) M1 =M, — Mw Mw = Mo — M Y]
=65 40
=25g \
(1

(iv) u= apparent loss in mass of prism \
(Do not accept upthrust)
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(€) | () X2=12.5cm \ 1)
4 e RX,—SX, R x16-1000 x 12,5
(i) X == = 26 = e 3)

26P — 26000 =16R —12500
10R = 13500

R = 1350 kg/m®

PART B
h)y|(HI1=042A+ (1)
() V=20V~ M
1
P v ()
1) I
_ 20
0.4
=476 Q
D|AC=L=389cm V (1)
(m) | CB=100-7/=100-389=61.1cm 4.76 @)
R=476Q
Q length 38.9 cm
—Q-—- i -—-l-)—-:>Q = ﬂx389
389 616 61.1
= 3030
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